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Conclusion or Generalization


Answers should include the water’s polarity and hydrogen bonds are the causes of most of water’s unique properties.  Its specific heat is due to the size of the molecule, but that it remains a liquid through a large temperature range because of hydrogen bonding. 
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Fluid Properties
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Capillary Action








Soap breaks up the surface tension because its hydrophilic end (water attracting) does not attract water as strongly as water to water








Water molecules on the surface have fewer molecules to cling to so they hold on stronger to the molecules below








Cohesion-Water molecules stick together because of hydrogen bonding








Like charges repel 


and 


unlike charges attract








Asymmetrical Molecule








Uneven distribution of charges











Acids turn blue litmus red, taste sour and are corrosive. Acids produce an excess of H+ ions and have a pH less than 7





Water is neutral, has a pH of 7


It forms equal amounts of H+ and OH- ions








Bases turn red litmus blue, taste bitter and are slippery. Bases produce an excess of OH- ions and have a pH greater than 7





Fluids have a specific volume and take the shape of their container





Fluids flow because molecules are not held rigidly in place





Buoyancy is the upward force of a fluid on a submerged or floating body








Water dissolves ionic compounds because they breakup into charged particles in water








Water dissolves polar molecules because both have uneven distribution of charges


(Like dissolves like)








Water does not dissolve nonpolar molecules because the charges on water are not attracted to neutral molecules.








The arrangement of molecules in ice and water is caused by hydrogen bonds








Water molecules are spaced further apart in ice than water








Water rises spontaneously through narrow tubes and porous material








Due to cohesion-water to water attraction and adhesion water to hydrophilic material








It depends on the material, diameter of tube and density of liquid








High Specific Heat Capacity Water must absorb large amounts of energy to change temperature.








Water is a liquid over a large range of temperatures because it is polar and the cohesion of the water molecules








High boiling point


Water requires large amounts of energy to break the hydrogen bonding and become a vapor 








 Density 


of 


ice and water








Hydrogen bonds occur between hydrogen and oxygen, nitrogen and fluorine











